t1 relset 2 (TM-
SkbLniC5TX3WpTSao61A7TG5zDTHqrGUyR)

October 27, 2020

Let k10_egrel_1 : :=>¢ be given. Let k1 _tarski : t=-¢ be given. Let v1_zboole_0 :
t=>0 be given. Let ml_subset_1 : t=1=>0 be given. Let k6_domain_1 : t.=1=>¢
be given. Let rl_tarski : t=1=0 be given. Let v3_relat2 : 1=0 be given.
Let v8_relat2 : t=0 be given. Let vl_partfunl : t=1=>0 be given. Let
kl_zfmisc_l : 1=-t be given. Let k2_z fmisc_1 : t=>1t=>1 be given. Let k8_eqrel_1 :
t=>t=t be given. Let k7_eqgrel_1 : t:=>1t=-1 be given. Let k6_partfunl : t=-¢ be
given. Let k4d_relat_1 : 1= be given. Let vl_relat.1 : 1=0 be given. Let
vd_relat_2 : 1=-0 be given. Let k6_eqrel_1 : t:=1=-1=-1=>1 be given. Assume the
following.

VX0.(—vl_xboole 0 X0)=(k10_eqrel_1 X0 = ReplSep (toset
(AX1:eml_subset.1 X1 X0)) (AX1:e.True) (AX1: . (1)
k6_domain_1 X0 X1))

Assume the following.
VX0VX1.(rltarski (kltarski X0) X1)<(X0 € X1) (2)

Assume the following.

VX0.¥X1.(ml_subset_1 X0 X1)=((vl-zboole-0 X1)V (3)
(X0 € X1))

Assume the following.
VX0.VX1.(X0 e X1)=(ml_subset.1 X0 X1) (4)

Assume the following.

VX0.VX1.((v3relat-2 X1)A((v8relat2 X1)A((vl_part funl
X1 X0)A(ml_subset-1 X1 (kl_zfmisc1 (k2_zfmisc.1 X0 X0))))))= (5)
(k8_egrel-1 X0 X1 = k7 _eqrel_.1 X0 X1)

Assume the following.

VX0.k6_part funl X0 = kd_relat_1 X0 (6)



Assume the following.

VX0.VX1.((—vl_zboole. 0 X0)A(ml_subset 1 X1 X0))= (7)
(k6_domain_1 X0 X1 = kl_tarski X1)

Assume the following.

VX0.3X1.(ml_subset_1 X1 (kl_zfmisc.1 X0))A(vl_zboole_0 (8)
X1)

Assume the following.

VXO0.(vlorelat_1 (kd-relat-1l X0))A((v3_relat-2 (kd-relat-1
X0)A((vd_relat_2 (kd-relat-1 X0))A(v8_relat-2 (kd_relat_1 9)

X0)))

Assume the following.

VXO0.(vl-partfunl (k6_partfunl X0) X0)A(ml_subset_1 (k6_partfunl
X0) (kl-zfmisc1 (k2_zfmisc.1 X0 X0)))
(10)
Assume the following.

VX0.k10_eqrel_1 X0 = k8_eqrel_-1 X0 (k6_partfunl X0) (11)
Assume the following.

VX0.VX1.((v3relat-2 X1)A((v8relat2 X1)A((vl_part funl
X1 X0)A(ml_subset_1 X1 (kl_zfmisc-1 (k2_zfmisc_.1 X0 X0))))))=
(VX2.(ml_subset 1 X2 (kl1_zfmisc.1 (kl_zfmisc_.1 X0)))=
(X2 =kT7egrel.l X0 X1)=(VX3.(ml_subset-1 X3 (kl_zfmisc_1
X0))=((X3 € X2)(3X4.(X4 € X0)A(X3 = kbegrel_1 X0 X0 X1 X4))))))
(12)
Assume the following.

VX0.(vl-xboole 0 X0)=(VX1.-X1 € XO0) (13)

Theorem 1

VX0.VX1.(X0 € k10_egrel_1 X1)<(3X2.(X0 = kl_tarski
X2)N(X2 € X1))



